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Edit the extract from an essay on economic growth to make it more
concise. How many words can you reduce it to, taking care to maintain the
same meaning?

Improved, more concise ve:

Itis generally believed that the richer a country, the greater the number of jobs
available and the greater the rates of employment. However, this beliefis a
contradiction. To maximise economic growth, productivity needs to be as high as
possible, with the lowest possible input and production costs. Companies need
to become streamlined, reducing staff numbers, and reducing the quantity of
resources needed to make the same volume of product. More enhanced and
‘mechanised labour leads to smaller production costs to product ratio. 84 words




